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2 
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
 

 
 


 










 


 



 
 
 
 

 MWM 
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 


2

2
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)30-أ -( 
1




2

)3(

 


 










 

 
1
2 
21. 
22
23d 
24 
3 
31 
32 
4 
41. 
42
43 
44 
45
5
6 
7 


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3


1 
11
111






112










 
t1t2 
 
2 
21
1 
 
 
 
 

 





03

4

 
 
 

F
 

F
MF/ 

 
22
 

 
 
 




 

 




 
 



 


 

23d
 
OP

 
F


A


d0HH

0F



 





03
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 
24 


 


M /M / = MF1/ + MF2/+ MF3/ + …. 

 
- 
- 
3 
31


 

 
 1 2,F F

 


 
 

1F

2F




 

 

 
32

1
 1 2,F F

 
R 

- 
-1F


 

-2F



-
-

 





03
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


 1 2,F F
 





 
M / = F.d 

 
2 

 


 
- 
-

 

 
 
 

dF.dM F/ = 


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 
4 
41 

m1 , m2 , m3 , …..
M1 , M2 , M3 , ….Mimi 

C 
m 1 CM1 +  m 2 CM2 + m 3 CM3 +  ……. =  0 

O 
 




 i

i

i OM
m

m
OC  = 

42
 




 
1 
 
2 
 


 


C

 

43— 
1 

 
 

 
  

 
 
 
 
 
 

 




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  
2 

 
I

 
 


 
 

-
 

-
 
-
-


II 
 
R 
2R 
 
 
 


 
 
 

 

 

 
 


 

 
44 

 
 

J/  
 
 





03
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   
J/m 

dJ/ = md2 
kg . m2 

 
 

m1m2m3 
d1d2d3 
J/ = midi

2 
 

 


 

RM 
 

-mi
 

R 
-

 
J/ = m1R2 + m2R2 + m3R2 + …… 

=  miR2 = ( mi)R2 = MR2J/ 
mi = M 

 




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 
 

 


R
M

 
J /  = MR2

 
 

 
R
M

 


J /  =1/2 MR2

 


 


RM

 


J /  = MR2

 
 
 



RM

 


J /  =1/2 MR2

 
 
 


R
M 
 

 


J /  =1/2 MR2



 
M 
L 



J / = 1/12 ML2



 


RM 

 
 

J /  = 2/5 MR2 
 

 
 
 


 
 
 
 
 




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 
45 

 
’
’ 
 
2+ Md/= J’/J 

 ')
 

Md
L’

 
5 

1 
 

 
 

 
 

2 
 


 

1 
 

12 
2 
3 
4 
 
5 
6 4 
 3 
 
 
 





03
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 
7 
 
 
F1 + F2 + F3 + F4 = 0  
M / = MF1/ + MF2/ + MF3/ + MF4/ = 0 

8 
 
9 

3 
125

 
 

1 
25 
5F5 

 
MF/ = 05

345 
 

534 
- 
- 

 
 
 
Fi = 0 
 

 
 

1 
2Fi = 0 
3MF/= 0 

 
 
 




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 

6 
 

R 


AB





-AB
 

AB 
(WABF) = WAB1(F) + WB1B2(F) +

WB2B3(F)+…… 
=    F . AB1 + F. B1B2 + F.B2B3 + …….. 

F ( AB1 + B1B2+B2B3+ …)= 
 

= F . AB 

AB = R . 
 W(F) = AB . F  = R .  . F

F .R
W(F) = MF/ .  

= M .MW
 

 
 

 

 
-

 

t
FWP



)( .F/t  = M/.F/MP = 

 

7 
 

mvR 
- 
- 

Ec = ½ . J. 2

J/ = m R2 




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 
 

Ec = ½ mV2 = ½ m R22 = ½ J.2 
 


Ec = ½ . J . 2 

 


